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QUESTION 1

A customer purchased HPE ProLiant Gen10 servers. The customer is transitioning from a physical to a virtual
environment. 

Which feature should be enabled to ensure that they get the optimal performance from their new servers? 

A. UEFI optimized boot 

B. Integration with an HPE OneView for VMware vCenter 

C. Performance optimization using the workload profiles 

D. OneView OS Build Plan 

Correct Answer: C 

 

QUESTION 2

A customer needs to install Red Hat 7.2 on a few DL380 Gen10 systems. 

Which tool should be used for this deployment? 

A. Image Streamer 

B. Intelligent Provisioning 

C. OneView 

D. Insight Control server provisioning (ICsp) 

Correct Answer: B 

 

QUESTION 3

Refer to the exhibit. 
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You are installing three Synergy frames for a customer PoC in the configuration shown. The composer is unable to
discover the frames. 

What is the most likely cause of the problem? 

A. Another composer is needed Frame 3 

B. Composer 2 is in the wrong frame 

C. The management network should be connected to the top and bottom frames 

D. The management ring should be connected using the FLM link ports 

Correct Answer: A 

 

QUESTION 4

A customer needs a VDI solution. The amount of compute per U of rack space will be a key point in their solution
selection. 
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Which HPE product would be an ideal solution as part of your RFP response? 

A. HPE Apollo 4510 Gen10 

B. HPE Apollo 4200 Gen9 

C. HPE SY480 Gen10 

D. HPE DL580 Gen10 

Correct Answer: A 

 

QUESTION 5

A customer has thousands of ProLiant and Apollo servers in their datacenter. The customer needs a tool that will help
them with firmware and driver updates. 

Which iLO Amplifier Pack feature should you emphasize during a conversation with this customer? 

A. support for 3Par and StoreVirtual 

B. support for iLO Federation 

C. firmware management for Integrity servers D. integration with System Center and vCenter Server 

Correct Answer: B 
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